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AKLVA «<AKTVBHA IIEPEMEHA»

AKLMA MPOLLAQ B CAEAYIOLLIMX KAOQCCQAX:
1A,16,1B,11,2B, 3A, 3b, 3 B, 3I', 4A, 4b, 4B, 41
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COPEBHOBAHVIA T1O ITMMOHEPBOJTY
CPEIM IEBOYEK 4 KJITACCOB

* 1 MECTO 30HIAQ KOMOHAQ 4b KAQCCO
* 2 MECTO 30HIAQ KOMAHAQ 4A KAQCCAO
* 3 MECTO 30HIAQ KOMAOHAQ 4] KAQCCAa
* 4 MECTO 30HIAO KOMOHAQ 4B KAQCCa







COPEBHOBAHSI TTO BOJTEMBOITY
CPEIM FOHOILIEM 10-11 KITACCOB

* | MECTO 3aHIAQ KOMAHAQ 11 kKAQCca
* 2 MECTO 3AQHIAQ KOMAOHAQ 10 KAQCCO







COPEBHOBAHWV ITO BOJIEMBOJTY
CPEANM JEBYIIEK 10-11 KITACCOB

1 MEeCTO 3aHIAQ KOMAHAQ 11 KAQCCO
2 MECTO 30HIAQ KOMAHAQ 10 KAQCCcA




